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Note:- This paper is of eighty (80) marks containing
three (03) section ‘A’, ‘B’ and ‘C’ Learners are
required to attempt the question contained in
these section according to the detailed
instructions given therein.

Ac— Ig Y- ST (80) fbi HT & SN A (03)
el ‘&, @ qar T H i 21 e
F g @vel ¥ RY W kg PEEEER @
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Section-A (TUs—)
(Long Answer Type Question) / CEESHNE ER)
Note:- Section ‘A’ contains four (04) long answer type
question of twenty (20) marks each. Learners are
required to answer two (02) questions only.
(19x2=38)
Ae— Wvs ‘@ H IR (04) < ST U A T B |
TAd T b ford 9 (20) b fRuiRa g
Rrenfeial @1 g8 & ®ad a1 (02) Ul & SR
Rl

1. Discuss the role of MNREGA in rural

development and employment in India.

URd ¥ 0T AR Td ISR H AT P
AT I THSY |

2. Explain the main characteristics of Industrial
Policy of India. Do you think that they are
adequate for economy.

ARG ! e AT o g faewaell @
Il BITY | T T TH AR ffedwe
@ forg Sugad A9 87
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3. Write an essay on agricultural development in

India during planning period.
ASHIDIA H IRAIY H ¥ & dd W) b
e foRay |

4. Discuss the objectives of world trade
organization. What is its role in the promotion
of India’s agriculture?

faeg FUR W6 b S BT fAdwT B |
IRA B BN & I~ H gqD! F7 AT 2°?

Section-B (WUs—)
(Short Answer Type Question) / (TgSTRIT Ug)

Note:- Section ‘B’ contain eight (08) short answer
type question of five (05) marks each. Learners
are required to answer any six (06) questions

only. (4x8=32)

UkViI& @oe @ #H 3me (08) &Y SIRI At U fad
T 2| AP U B forw ufw (05) sfw fAuiRa
2| el & 398 ¥ daa v (06) Ul B
IR o B
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Explain the role of NABARD in the field of

rural credit.

T ARG & &9 H Aere ( NABARD) @
HHABT B AT DI |

Explain the resources of rural finance.

T a7 & ATEFl BT Seeld HIfTY |

Distinguish between direct and indirect taxes.

el T YT BRI H TN W HIfOTT |

What do you understand by devaluation?
3T ¥ 3T T FHAS &7

What is White Revolution?
3dd hif~d T 87

Explain the reasons of slow progress of rural

development in India.

R d IO (e @) & wIfd & eRor
A |
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7. What is foreign Direct Investment?

ycer fageh fafvarer w7 87

8. Explain deficit financing.
TS Ug /' @ fa gaRenm @) araAn

DI |#

Section-C (TUs—)
(Objective Type Questions) / (G¥IsS T2 )

Note:- Section ‘C’ contains ten (10) objective type
questions of One (01) marks each. All the
questions of this section are compulsory.

(10x1=10)

de— @re T # 9 (10) TS T A W
AP e b U T (01) 3 MeiRa €1 g9
wug & 9T g rfart g |

1. In an under developed economy the major
contribution to the national income is made by:

frd) srcufdsfid sefagdRen & I Iy |
TRg ARTe 1 § 4 {6 &3 b1 i 27
(A)  ThePrimary Sector (ST &3 @)

(B)  The Tertiary Sector (i &5 )
(C)  The Secondary Sector (fgciia® &= &)
(D)  Any of these 5 A fear &1 )
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Which of the following statements regarding

Indian agriculture is not correct?
IR W & =l d 71 4 | Dla—a1 Ha
e e § 7

(A)

(B)

(©)

(D)

Indian agriculture is a gamble of monsoon.
IRA B AT BT SR B |

By green revolution we mean fast increase of
agricultural production.

gRT HIf<d ¥ BART dcad By e o
di afg & 2|

Consolidation of holdings has helped Indian
agriculture to grow.

Sl @1 Fha<l 7 IR By & fdard
# AR B T |
Agriculture is the secondary industry in India.

IRd H BN fgdigs ST § |

The increase in population in India during the

past five decades has been a consequence of:

favTa dfg qerl § AR & ST H g% gfa

o & 9 fger aRumy &) 2

(A)

(B)
©)
(D)
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Large scale migration of population from
Nepal and Bangladesh.

qUTd AT GRS W 99 UM WR
STAAET T RIHT=NOT

A fall in death rate 5Jax % RREe

A high birth rate 3@ TG

Both (B) and (C) T () eI (4) |
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Which Industry employs the largest number of
women in India?

= & 9 fow SaT # ARk 999 3ifte
TG | BRIk &

(A) Tea (dT1Y)

(B)  Textile ()

(C©)  Jute (SE)

(D)  Coal (PIFaT)

When was the policy of liberalization
introduced in India?

YRT H STRIGNUT &I Hifd 91 § 9 fea a¥

TE BT
(A) 1990 B) 1992
©) 1991 (D) 1994

When was the NABRD set up:

ATETS e MU ga:
(A) 1975 (B) 1980
(C) 1990 (D) 1982

Which of the following is a Direct Tax?
/1 5 9 o4 91y R &

(A) Entertainment (RS &%)
(B) Excise Duty (ITUTq &)

(C)  Sales Tax (fdshl &)

(D) Income Tax (JMTIDN)
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10.

India’s position in the world in terms of
population.

SHEIT BT gfte | fdvd H 9Rd BT B AT
W 2

(a) First (Ygell) (B)  Second (GHNI)

(C)  Third (§d@) (D)  Fourth (age)

In which of the following of year the concept of

Panchyati Raj was introduced in India?

T & 9 g 99 =) ST &1 STIUROT YR

¥ e B |
(a) 1960 (b) 1956
(c) 1957 (c) 1959

Export and Import Bank of India established
in :

s vd fata d@ o gfvedr &1 AT
Frer ¥ 9 oy o ¥ g9

(A) 1986 (B) 1985

(C) 1982 (D) 1990

*hkkk
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